

Sum of the cubes of the first n Fibonacci's numbers.

[https://www.linkedin.com/feed/update/urn:li:activity:6950594485294686208?](https://www.linkedin.com/feed/update/urn:li:activity:6950594485294686208?utm_source=linkedin_share&utm_medium=member_desktop_web)

utm_source=linkedin_share&utm_medium=member_desktop_web

Calculate the sum of the cubes of the first n Fibonacci's numbers.

Solution by Arkady Alt, San Jose, California, USA.

Let (F_n) be sequence of Fibonacci numbers defined by

$$F_{n+1} = F_n + F_{n-1}, n \in \mathbb{N} \text{ and } F_0 = 0, F_1 = 1.$$

We will prove that $\sum_{k=1}^n F_k^3 = \frac{F_{3n+2} + 6(-1)^{n-1}F_{n-1} + 5}{10}$

By replacing m in **Luca's formula** $F_{n+m} = F_{m+1}F_n + F_mF_{n-1}$ with $2n$ we obtain

$F_{3n} = F_{n+2n} = F_{2n+1}F_n + F_{2n}F_{n-1}$. Applying identities $F_{2n+1} = F_{n+1}^2 + F_n^2$ and

$F_{2n} = F_n(F_{n+1} + F_{n-1})$ we obtain $F_{3n} = F_n(F_{n+1}^2 + F_n^2) + F_{n-1}F_n(F_{n+1} + F_{n-1}) =$

$$F_n^3 + F_n^2F_{n+1} + F_{n-1}^2F_n + F_{n-1}F_nF_{n+1} = F_n^3 + F_n(F_{n+1}^2 - 2F_{n-1}F_{n+1} + F_{n-1}^2) + 3F_{n-1}F_nF_{n+1} =$$

$$F_n^3 + F_n(F_{n+1} - F_{n-1})^2 + 3F_{n-1}F_nF_{n+1} = 2F_n^3 + 3F_{n-1}F_nF_{n+1}.$$

Since $F_{n-1} \cdot F_{n+1} - F_n^2 = (-1)^n \Leftrightarrow F_{n-1}F_nF_{n+1} = F_n^3 + (-1)^nF_n$.

Thus, $F_{3n} = 5F_n^3 + 3(-1)^nF_n \Leftrightarrow F_n^3 = \frac{F_{3n} + 3(-1)^{n+1}F_n}{5}$ and, therefore,

since $\sum_{k=1}^n F_k^3 = \frac{1}{5} \left(\sum_{k=1}^n F_{3k} + 3 \sum_{k=1}^n (-1)^{k+1} F_k \right)$ remains to find $\sum_{k=1}^n F_{3k}$, $\sum_{k=1}^n (-1)^{k+1} F_k$.

We have $\sum_{k=1}^n (-1)^k F_k = -F_1 + \sum_{k=2}^n (-1)^k (F_{k-1} + F_{k-2}) =$

$$-F_1 + \sum_{k=2}^n ((-1)^{k-2} F_{k-2} - (-1)^{k-1} F_{k-1}) = -F_1 + F_0 - (-1)^{n-1} F_{n-1} = -1 + (-1)^n F_{n-1}$$

Since* $F_{3(n+1)} = 4F_{3n} + F_{3(n-1)}$ then $\sum_{k=1}^n F_{3(k+1)} = 4 \sum_{k=1}^n F_{3k} + \sum_{k=1}^n F_{3(k-1)}$.

Let $S_n := \sum_{k=1}^n F_{3k}$. Then $\sum_{k=1}^n F_{3(k+1)} = S_n + F_{3n+3} - F_3 = S_n + F_{3n+3} - 2$,

$$\sum_{k=1}^n F_{3(k-1)} = S_n - F_{3n} \text{ and } 4S_n = \sum_{k=1}^n 4F_{3k} = \sum_{k=1}^n F_{3(k+1)} - \sum_{k=1}^n F_{3(k-1)} =$$

$$S_n + F_{3n+3} - 2 - S_n + F_{3n} = F_{3n+3} + F_{3n} - 2 = F_{3n+4} - F_{3n+2} + F_{3n} - 2.$$

But since* $F_{n+2} = 3F_n - F_{n-2}$ for any $n \in \mathbb{N}$ then $F_{3n+4} - F_{3n+2} + F_{3n} = 2F_{3n+2}$

and, therefore, $\sum_{k=1}^n F_{3k} = \frac{1}{2}(F_{3n+2} - 1)$.

$$\text{Hence, } \sum_{k=1}^n F_k^3 = \frac{1}{5} \left(\frac{1}{2}(F_{3n+2} - 1) + 3(-1)^{n-1}F_{n-1} \right) = \frac{F_{3n+2} + 6(-1)^{n-1}F_{n-1} + 5}{10}.$$

* For any natural $n \geq 2$ we have $F_{n+2} = F_{n+1} + F_n$, $F_{n+1} = F_n + F_{n-1}$, $F_n = F_{n-1} + F_{n-2}$.

$$\text{Hence } F_{n+2} = 2F_n + F_{n-1} = 2F_n + (F_n - F_{n-2}) = 3F_n - F_{n-2}.$$

$$\text{Also } F_{n+3} = F_{n+2} + F_{n+1} = (3F_n - F_{n-2}) + (F_n + F_{n-1}) = 4F_n + (F_{n-1} - F_{n-2}) = 4F_n + F_{n-3}.$$